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2. 2%+ xy-3y?+5x+5y+ 25 Aol SFH (x+ay+b)(2x+cy+d)
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2x% + xy — 3y 4+ 5x + 5y + 2
=2x%2+ (y+5)x—3y% + 5y + 2
=2x+(y+5)x-(y-2)3y+1)
= {(x— (y - 2)}2x + (3y + 1))
=(x-y+2)(2x+3y+1)
ca=-1,b=2,c=3,d=1
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2x2 —x—6=(x-2)(2x+ 3)
B+ -dx-4=(x-2)(x+2)(x+1)
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(x+1)(x+3)(x+5)(x+7)+a

=(x+1)(x+7)(x+3)(x+5)+a

=(x2+8x+7)(x>+8x+15) +a

XP+8x=A2=°H

(EF=A) =(A+T7)(A+15)+a
=A%+ 22A+105 +a
=(A+11)2-16+a
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5. a, b, ¢7} AABCO AH 2] Zo]E vetd of, th-g 54
ab?® — a’c + b*c - b® = 0 UEs= A5

R |

® 2
()ﬂ%%ﬁﬁ%
®
@
®

a® +a’b —ab® —a’c+b*c-b3 =0
a*(a+b)—b*(a+b)—c(a®>-b?) =0
(a+b)(a* — ac + bc—b?) =0
(a+b){((a-Db)(a+Db)—cla—b)) =
(a+b)a-b)la+b-c)=0
a+b>0,a+b—c>0°EZ2 a=0b
= b3l O 5WHZT




